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RRB Level-1 Exam. – Practice Set
Answer with Explanation

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

1. (a) †îû&îû ”%öì• „þÄyöìîûy!Ýþ̃  íy„þyîû ‹˜Ä ”%öì•îû îû‚ {¡ìê £œöì” £ëûÐ
„þÄyöìîûy!Ýþ˜ šþÄyöìÝþ oî’#ëû öëï†Ð

2. (b) þ™Äyîûyíy£zîûöìëûvþ £îûöì›y˜ îûöì_« „þÄyœ!¢ëûy›– šþ¢šþîûy¢ ~î‚
›Äy†öì̃ !Ÿëûyöì›îû ›yey !˜ëûsþf’ „þöìîûÐ

3. (d) 1901 ¢yöìœ !vþ !¼¢ !›vþzöìÝþŸy˜ “þöì_î́û •yîû’y ö”ëûÐ !“þ!˜
çöìëûöì̃ yöìíîûy œÄy›yîû!„þëûy˜y vþz!qöì” !›vþzöìÝþŸ˜ x•Äëû̃  „þöìîûÐ

4. (d) ¢Á±!“þ !î‹ëûy !„þöìŸyîû îûy£y“þ„þyîû ‹y“þ#ëû ›!£œy „þ!›Ÿöì̃ îû
ö‰þëûyîûþ™y¢Å̃  !£¢yöìî !˜ë%_« £öìœ˜Ð

5. (c) ›y˜%öì¡ìîû ö”öì£îû !þ™_îû¢ šþÄyÝþ ‹y“þ#ëû …y”Ä þ™!îûþ™yöì„þ ¢y£yëÄ
„þöìîûÐ !¦þÝþy!›˜éôéA, !¦þÝþy!›˜éôéD ~î‚ !¦þÝþy!›˜éôéE šþÄyÝþ
‹y“þ#ëû …yöì”Ä oî’#ëûÐ

6. (c) ÷î”%Ä!“þ„þ îyöìÍºîû !šþœyöì›rÝþ Ýþy‚öìÞÝþ˜ !”öìëû ÷“þ!îûÐ 1983
¢yöìœ ‹%ëûy˜ ~î‚ šþyvþzöìÞÝþy ~œýëûyîû Ýþy‚öìÞÝþ̃  •y“%þ!Ýþ xy!îÜñyîû
„þöìîû̃ Ð

7. (d) ‹y›Åy˜ !¢œ¦þyîû ÷“þ!îûîû ‹˜Ä ²Ìöìëûy‹˜ £ëû ˜y !Ýþ˜Ð
8. (d) ¦þyîûöì“þîû !„þ‚î”hsþ# ›!£œy !ßþ™˜yîû ˜#“%þ œöìîûª övþ!¦þvþ

¢Á±!“þ òxy£z!¢!¢ £œ xšþ öšþ›ó ¢Á¿yöì̃  ¦)þ!¡ì“þ £öìëûöìŠé˜Ð
~îŠéöìîûîû  ˜#“%þ œöìîûª övþ!¦þöìvþîû þ™yŸyþ™y!Ÿ  xyîûç ë¤yîûy
òxy£z!¢!¢ £œ xšþ öšþ›ó ¢Á¿yöì̃  ¦)þ!¡ì“þ £öìëûöìŠé˜ “¤þyîûy
£öìœ˜éôé xÄyöìœÞÝþyîû „%þ„þ– ~!î !vþ !œ!¦þ!œëûy¢ÅÐ

9. (b) Çþyîû#ëû oîöì’ !šþ˜œþ™íÄy!œöì˜îû î’Å †y‘þü ö†yœyþ™#Ð
!šþ̃ œþ™íÄy!œ˜ £œ ”%îÅœ xÄy!¢vþÐ ~!Ýþ xÄy!¢vþ oîöì’ î’Å£#˜
£ëûÐ

10. (c) î%̃ öì¢˜ îy’Åyîû îyîûöì̃ ï!œîû ˜#!“þîû çþ™îû „þy‹ „þöìîûÐ ~Šéyvþüy
~öìîûyöì²Õöì̃ îû „þyëÅ̃ #!“þ îyîûöì̃ ï!œ ˜#!“þîû çþ™îû „þy‹ „þöìîûÐ

11. (c) ë"y !‰þ!„þê¢yëû îÄî£*“þ þ™kþ!“þ £œ DOTÐ
12. (c) ¢Á±!“þ ²Ì„þy!Ÿ“þ ¦þyîûöì“þîû ›!£œy „%þ!hßþ†#îû ¢yÇþ# ›y!œöì„þîû

ßþ¿,!“þ‰þyîû’y›)œ„þ @ùÌöìsþiîû ˜y› £œéôé 'Witness'. ~£z @ùÌöìsþiîû
îû‰þ!ëû“þy £öìœ˜ ¢yÇþ# ›y!œ„þ ßþºëû‚ ~î‚ öþ™Ÿyëû ¢y‚îy!”„þ
ö‹y˜yí˜ ¢yœ¦þyöìîû‹Ð

13. (c) ò“þ!vþüê ²Ìîyöì£îû “þyþ™#ëû šþœó ‡Ýþ˜yîû xy!îÜñyîû „þöìîû̃  þ™”yíÅ!î”
ö‹›¢ !þ™ ‹%œÐ

14. (a) ˜y£z!ÝþÆ„þ xÄy!¢vþ ö¢y˜yîû ¢öìD !î!e«ëûy „þöìîû ˜yÐ ˜y£z!ÝþÆ„þ
xÄy!¢vþ î’Å£#˜– ö•¤yëûyöìÝþ ²Ì„,þ!“þîûÐ ~îû ßþ³%þÝþ˜yBþ 83°CÐ ~!Ýþ
¢yîû ~î‚ !îöìßþ³þyîû„þ þ™”yíÅ ÷“þ!îûöì“þ îÄî£*“þ £ëûÐ

15. (d) x!:˜ £îûöì›y˜ vþz!qöì”îû !‹çÝþÆ!þ™„þ ²Ì!“þ!e«ëûyîû ‹˜Ä ”yëû#Ð
x!:˜ £îûöì›yöì̃ îû îûy¢yëû!˜„þ ˜y› £zöìuþyœ xÄy!¢!Ýþ„þ xÄy!¢vþÐ
vþz!qöì”îû „þy[þ ç ›)öìœîû !î„þyöìŸ x!:˜ £îûöì›y˜ =îû&cþ™)’Å
¦)þ!›„þy þ™yœ˜ „þöìîûÐ

16. (b) ¢Á±!“þ ›£ydy †yõþ# !œvþyîû!Ÿþ™ xÄyçëûyöìvÅþ ¦)þ!¡ì“þ £öìœ˜
”yîûy !¢‚ …%îûy˜yÐ

17. (a) îœ = ¦þîû × cîû’

cîû’ = îœ
¦þîû

1000
500

 = 2 ö¢!›/ö¢öì„þuþ2

18. (b) öœy£y “þ!vþüê ‰%þÁº„þ ÷“þ!îûöì“þ îÄî£*“þ £ëûÐ öœy£yîû þ™yîû›y’!î„þ
¢‚…Äyéôé26– þ™yîû›y’!î„þ =îû&céôé55.85– †œ˜yBþéôé1538°C
~î‚ ßþ³%þÝþ˜yBþéôé2862°CÐ

19. (b) œ‡% ›!hßþÜñ þ™Øþy” ›!hßþöìÜñîû x‚Ÿ !îöìŸ¡ì ˜ëûÐ
20. (d) 2 öíöì„þ 22 ˜öì¦þÁºîû ¦þyîû“þ ç ›y!„Åþ˜ ë%_«îûyöìÜT Éîû

ö¢˜yîy!£˜#îû ›öì•Ä x˜%!Ûþ“þ öëïí ›£vþüy òîL þ²Ì£yîûó ›y!„þÅ̃
ë%_«îûyöìÜTÉîû £z”yöì£yöì“þ x˜%!Ûþ“þ £œÐ

21. (a) !›!:!vþ›y öîûy† íy£zîû!:˜ £îûöì›yöì̃ îû xÒ Çþîûöì’ ‡öìÝþÐ
íy£zîû!:˜ íy£zîûöìëûvþ @ÕÄyuþ öíöì„þ Çþ!îû“þ £ëûÐ ~!Ýþ £yÝÅþ ~î‚
ö›Ýþyî!œ‹öì›îû „þyëÅyî!œöì„þ !˜ëûsþf’ „þöìîûÐ ~!Ýþ T4 £îûöì›y˜Ð

22. (b) B6 !¦þÝþy!›˜!Ýþ òþ™y£z!îûvþ!:˜ó ˜yöì› þ™!îû!‰þ“þÐ
23. (d) þ™Äyîûy!šþ˜ çëûy: (Paraffin Wax) £œ vþzF‰þ xÄyœöì„þöì̃ îû

!›×’Ð
24. (c) îûy!Ÿëûyîû !„þ‚î”hsþ# öÝþ!˜¢ “þyîû„þy ›y!îûëûy Ÿyîûyöìþ™y¦þy

ò£zrÝþyîû̃ ÄyŸ˜yœ öÝþ!˜¢ £œ xšþ öšþ›ó !£öì¢öìî ¢Á¿y!˜“þ
£öìëûöìŠé˜Ð ~îû þ™yŸyþ™y!Ÿ ›y!„Åþ˜ ë%_«îûyöìÜTÉîû îî îÊyëûy˜ ~î‚
›y£z„þ îÊyëûy˜ç ~£z ¢Á¿yöì̃  ¦)þ!¡ì“þ £öìëûöìŠé˜Ð

25. (c) £zvþz!îûëûy £œ ~„þ„þ xÄy!¢!vþ„þ ÇþyîûÐ £zvþz!îûëûyîû îûy¢yëû!˜„þ
¢‚öì„þ“þ £œ CO(NH2)2Ð ¢yîû ÷“þ!îûöì“þ ~!Ýþ îÄî£*“þ £ëûÐ

26. (c) îûöì_«îû “þMþéöì̃ îû ‹˜Ä ²Ìöìëûy‹˜#ëû !¦þÝþy!›˜ £œ !¦þÝþy!›˜ KÐ
~£z !¦þÝþy!›öì̃ îû îûy¢yëû!˜„þ ˜y› šþy£zöìœy„%þöìëûy!˜˜ (Phyllo-
quinone)Ð

27. (c) œ%̃ yîû „þ!ÞÝþ„þ “þ!vþüê þ™!îûî£öì’ ¢Çþ›Ð œ%̃ yîû „þ!ÞÝþöì„þîû
îûy¢yëû!˜„þ ˜y› !¢œ¦þyîû ˜y£zöìÝþÆÝþ (AgNO2)Ð

28. (d) ¢Á±!“þ ¢yîûy ö”Ÿ‹%öìvþü ²Ìy’#öì”îû ßþºyßþiÄ ¢%îûÇþy Ÿ!_«Ÿyœ#
„þîûöì“þ ‘Pandemic Fund Project’ ö²Ìyöì‹öìQîû ¢)‰þ˜y
£öìëûöìŠéÐ

29. (a) ›y˜î Ÿîû#öìîûîû ë„,þêöì„þ îyöìëûyöì„þ!›„þÄyœ œÄyîöìîûÝþ!îû îœy
£ëûÐ ~!Ýþ ›y˜îöì”öì£îû þ™y„þßþi!œîû vþy˜ þ™yöìŸ xî!ßþi“þÐ ~îû
îû‚ œyœöì‰þ …öìëû!îûÐ

30. (d) xyíÅyîûy£z!Ýþ¢ £îûöì›y˜ ‡!Ýþ“þ öîûy† ˜ëûÐ
31. (c) x!:öìÝþy!¢˜ £îûöì›y˜öì„þ ‘Birth Hormone’ îœy £ëûÐ ~£z

£îûöì›y˜öì„þ òœy¦þ £îûöì›y˜ó îöìœÐ Ÿyîû#!îû„þ ¢Á™öì„Åþîû ¢›ëû
~!Ýþ ¢!e«ëû £ëûÐ



xÄy!‰þ¦þy¢Åî¡ìÅ éôé 12– £z¢%Ä éôé 10  öšþîÊ&ëûy!îû– 20252

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

32. (b) ¢Á±!“þ ‰þ#˜ !“þ˜!Ýþ Tinaping -3 ¢ÄyöìÝþœy£zÝþ ²Ìlßþ“þ „þöìîûöìŠéÐ
ö¢=!œ £œ Tinaping -3A (01), Tinaping-B (01),
Tinaping-B (02)Ð

33. (b) ›)öìeîû pH £œéôôé 6Ð
34. (b) ¢‚!î•yöì̃ îû 21(A) ˜‚ •yîûyëû !ŸÇþyîû x!•„þyöìîûîû „þíy îœy

£öìëûöìŠéÐ
35. (a) ¢‚!î•yöì̃ îû 243-243(O) ˜‚ •yîûyëû þ™Mþéyöìëû“þ îÄîßþiyîû

„þíy î!’Å“þ îûöìëûö ìŠéÐ 1992 ¢yöìœîû 73“þ› ¢‚!î•y˜
¢‚öìŸy•˜# xy£zöì̃ îû ›y•Äöì› þ™Mþéyöìëû“þ îÄîßþiy †!àþ“þ £öìëû!ŠéœÐ

36. (a) ¢Á±!“þ ²Ì„þy!Ÿ“þ ö@Õyîyœ ö˜‰þyîû „þ˜‹yîûöì¦þŸ˜ £z̃ öìvþöì:
¦þyîû“þ 176“þ› ßþiyöì̃  îûöìëûöìŠéÐ

37. (b) !”!ÍÔîû ¢%œ“þy!˜ ¢yÁËy‹Ä îyîöìîûîû xye«›öì’ •¹‚¢ £öìëû!ŠéœÐ
1526 ¢yöìœ ²Ìí› þ™y!˜þ™öìíîû ë%kþ îyîîû ~î‚ £zîÊy!£›
öœy”#îû ›öì•Ä £öìëû!ŠéœÐ ~£z ë%öìkþ £zîÊy!£› öœy”# þ™îûy!‹“þ
£ëûÐ ~îûþ™îû îyîîû ö›y‡œ ¢yÁËy‹Ä ²Ì!“þÛþy „þöìîû!Šéöìœ˜Ð

38. (c) ¦þyîû“þîöì¡ìÅîû öî!Ÿîû¦þy† ÷“þœ öŸy•˜y†yîû=!œ þ™y£zþ™œy£z̃
Ýþy!›Å̃ yœ !¦þ!_„þÐ ¦þyîûöì“þîû ²Ìí› ÷“þœ öŸy•˜y†yîû 1901
¢yöìœ x¢öì›îû !vþ†îöìëû ßþiy!þ™“þ £öìëû!ŠéœÐ

39. (d) G¤þy!¢– ¢¤y“þyîûy– ˜y†þ™%îû– vþ z”ëûþ™%î û– ¢Áºœþ™%î û ²Ì¦,þ!“þ
îûy‹Ä=!œöì“þ £z‚öìîû‹îûy ßþºc!îöìœyþ™ ˜#!“þ ²Ìöìëûy† „þöìîû “þyöì”îû
¢yÁËy‹Ä¦%þ_« „þöìîû!ŠéœÐ ßþºc!îöìœyþ™ ˜#!“þîû ²Ìî“Åþ˜ „þöìîû̃
œvÅþ vþyœöì£ï!¢ ~î‚ ßþºc!îöìœyþ™ ˜#!“þ ²Ì“þÄy£yîû „þöìîû̃  œvÅþ
„þÄy!˜‚Ð

40. (d) 2024 ¢yöìœîû 5 ˜öì¦þÁºîû òçëûyÓÅþ ¢%̃ y!› xÄyçëûyîûöì̃ ¢
övþó þ™y!œ“þ £œÐ

41. (c) ßþºy›# ”ëûy˜¨ ¢îûßþº“þ# 1875 ¢yöìœ xyëÅ ¢›y‹ ²Ì!“þÛþy
„þöìîû!Šéöìœ˜Ð ßþºy›# ”ëûy˜¨ ¢îûßþº“þ#éôôôé
(i) !“þ!˜ îý!îîy£ ~î‚ îyœÄ !îîyö ì£îû !îö ìîûy!•“þy
„þöìîû!Šéöìœ˜Ð
(ii) !“þ!˜ x¢î’Å ç !î•îy !îîy£ ¢›íÅ̃  „þöìîû!Šéöìœ˜Ð
(iii) !“þ!˜ ²Ìy„,þ!“þ„þ !îþ™ëÅëû öë›˜éôô î˜Äy– …îûy– ›£y›y!îû
²Ì¦,þ!“þîû ¢›ëû eyöì’îû îÄîßþiy „þöìîû!Šéöìœ˜Ð

42. (c) ¦þy£z¢îûëû œvÅþ !œÝþ˜ îûy!˜ !¦þöìQy!îûëûyöì„þ ò¦þyîûöì“þîû ¢ÁËyKþ#ó
îöìœ ö‡y¡ì’y „þöìîû!Šéöìœ˜Ð

43. (a) òœ#œyî“þ#ó @ùÌsþi!Ýþ šþyîû!¢ ¦þy¡ìyöì“þ x˜%îy” „þöìîû!Šéöìœ˜ ÷šþ!‹Ð
÷šþ!‹ xy„þîöìîûîû ¢¦þy„þ!î !Šéöìœ˜Ð ÷šþ!‹ þ™Mþé“þsþf– îûy›yëû’–
›£y¦þyîû“þ šþyîû!¢ ¦þy¡ìyöì“þ x˜%îy” „þöìîû!Šéöìœ˜Ð

44. (b) 1897 !…ÊÞÝþyöì· òßþºöì”!Ÿ ¦þy[þyîûó †àþ˜ „þöìîû̃  îûî#w˜yí
àþy„%þîûÐ

45. (c) ò˜îû›þ™sþi# îûy‹˜#!“þ ö¢yvþy‹öìœîû vþzFŠ´éy¢óéôôôé vþz!_«!Ýþ
„þö ìî û!Šéö ìœ˜ !î!þ™˜‰þw þ™yœÐ “¤þ yö ì„ þ ‘Father of
Revolutionary’ îœy £ëûÐ !“þ!˜ Bengal Public
Opinion, The Tribune ~î‚ New India
þþ™!e„þy=!œöì“þ ¢Á™y”˜y „þöìîû!Šéöìœ˜Ð

46. (d)

X Y Z
ßþf# ¦þy£z

P

Ù»Ö
îû þ™%e

Y ~î‚ Z ë!” P ~îû þ™%e £ëû “þöìî X £œ P ~îû þ™%eî•)–
P £œ X ~îû Ù»ÖîûÐ

47. (b) LACUNA Ÿ·!Ýþîû N xÇþîû!Ýþ ö”çëûy Ÿöì·îû xÇþîû ˜ëûÐ
48. (d)        ö„þyvþ         îy„þÄ

Wre asi amoh kedo Polo is drinking tea
Wre epu uki Polo buys books
Buen eld kedo Libbo drinks tea
Polo Ÿ·!Ýþ 1 ˜‚ ~î‚ 2 ˜‚ îyöì„þÄ common “þy£z Polo
~îû ö„þyvþ £öìî Wre, xyîyîû Tea Ÿ·!Ýþç ²Ìí› ç “,þ“þ#ëû
îyöì„þÄ common “þy£z Tea Ÿ·!Ýþîû ö„þyvþ £öìî kedo.

49. (c) ~…yöì̃  ²Ìí› xÇþîû!Ýþöì„þ ”%£zîyîû öœ…y £öìëûöìŠé ~î‚ ”%£z •yþ™
~!†öìëû “,þ“þ#ëû xÇþîû!Ýþ öœ…y £öìëûöìŠéÐ ~£z¦þyöìî Continue
„þîûy £öìëûöìŠéÐ
AA C

+2

DD GG JF I

+2 +2
50. (d) abcd / abcd / abcd /
51. (b) C F

+3

F S VD V T

–2 +3 –2
52. (b) ²Ìí› öÇþöìe ”%!Ýþ Set ~îû ²Ìí› xÇþîû=!œ ~„þ£z !„þlsþ !m“þ#ëû

ç “,þ“þ#ëû xÇþîû ”%!Ýþ 1 ç –2 „þöìîû !þ™!Šéöìëû ö†öìŠéÐ

A A
K J
U S

–1
–2

C C
R Q
D B

–1
–2

53. (d) þ™¤y‰þ‹˜ öŠéöìœîû xîßþiy˜ ~£z ²Ì„þyîû £öìî ­

›öì£Ÿ

îûyöì„þŸ

x!˜œ

¢%öìîûŸîû!O“þ

¢%“þîûy‚– ›öì£öìŸîû î¤y!”öì„þ îûyöì„þŸ íy„þöìîÐ
54. (a) î¢yîû xîßþiy˜ !˜Á¬ ²Ì„þyîû ­

A

E
F

G

H B

C

D

vþz_îû

”!Çþ’

þ™!Øþ› þ™)îÅ

x“þ~î ~Ýþy ßþ™ÜT öë– E ”!Çþ’ !”öì„þ îöì¢ îûöìëûöìŠé˜Ð



3Achievers

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

55. (a) 3 6 11 18 27F G I L P

+3 +5 +7 +9
+1 +2 +3 +4

¢%“þîûy‚ ²ÌÙÀ!‰þ!£«“þ ßþiyöì̃  27P î¢öìîÐ

56. (d) 7
G

15
O

1
A

12
L

8
H

16
P

2
B

13
M

+1
+1
+1
+1

~…yöì̃  xy›îûy ö”…!Šé öë– GOAL Ÿöì·îû ²Ì!“þ!Ýþ xÇþîûöì„þ
e«›Ÿ +1, +1 .... e«öì› îy!vþüöìëû HBM ~îû îû*öìþ™ ö„þyvþ
„þîûy £öìëûöìŠéÐ
~„þ£z¦þyöìî ­

16
P

15
O

19
S

20
T

17
Q

16
P

20
T

21
U

+1
+1
+1
+1

¢%“þîûy‚ POST  QPTU öœ…y £öìîÐ

57. (c) 40 !„þ!›

40 !„þ!›
20 !„þ!›

30 !„þ!›

²Ìyîû!½þ„þ
xîßþiy˜

¢%“þîûy‚ ¢y£zöì„þœ xyöìîûy£# !˜öì‹îû ²Ìyîû!½þ„þ xîßþiy˜ öíöì„þ
(30 – 20) = 10 !„þ!› ”)îûöìc îûöìëûöìŠéÐ

58. (b)

¦þy£z  öîy˜

„þy„þyþ™%e
X Y¦þy£z

Q P

öîû…y!‰þe öíöì„þ ßþ™ÜT öë– Y, P ~îû „þy„þyÐ
59. (b) 3
60. (c) 22
61. (d) 30
62. (d) 17
63. (b) 25

64. (c) 21 22 26 35 51 76

+(1)2 +(2)2 +(3)2 +(4)2 +(5)2

65. (d)

²Ìyîû!½þ„þ
ßþiy˜A

BC

D

30 !›Ýþyîû30 !›Ýþyîû

20 !›Ýþyîû
vþz_îû

”!Çþ’

þ™!Øþ› þ™)îÅ

AB = 30 !›Ýþyîû
BC = 20 !›Ýþyîû
CD = 30 !›Ýþyîû
ŸÄy› ²Ìyîû!½þ„þ ßþiy˜ öíöì„þ þ™!Øþ› !”öì„þ 20 !›Ýþyîû ”)îûöìc
îûöìëûöìŠéÐ

66. (a) C
+1
+3
+5

A T D D Y

¢%“þîûy‚ DOG ö„þ ERL öœ…y £öìîÐ

67. (b) K
–1

U M J T LA R Z Q

–1
–1
–1
–1

¢%“þîûy‚ SANKAR ö„þ RZMJZQ öœ…y £öìîÐ
68. (d) 52 = 25

~„þ£z¦þyöìî– 72 = 49
69. (d) ²Ìöì“þÄ„þ xÇþîû ¢›)öì£ !m“þ#ëû xÇþîû ²Ìí› xÇþöìîûîû öíöì„þ ~„þ

xÇþîû îy” !”öìëû ~öì¢öìŠéÐ ~£z e«öì› Wôéîû ¢yöìí X îy” !”öìëû
Y xy¢öìîÐ

70. (a) 3 × 5 × 2 × 4 = 120/10 = 12
6 × 2 × 3 × 5 = 180/10 = 18
2 × 2 × 8 × 5 = 160/10 = 16

71. (c) 22 + 42 = 4 + 16 = 20
32 + 92 = 9 + 81 = 90
12 + 52 = 1 + 25 = 26

72. (c) 20 – 5 ÷ 18 × (3 + 2)
†y!’!“þ„þ !‰þ£«=!œöì„þ þ™!îûî“Åþ˜ „þîûöìœ–
20 + 5 – 18 ÷ (3 × 2)
= 25 – 18 ÷ 6
= 25 – 3 = 22

73. (c) 98 95 86 82 66 61 36

–3 –32 –4 –42 –5 –52

74. (a) 16 24

×1.5

36 54 81

×1.5 ×1.5 ×1.5



xÄy!‰þ¦þy¢Åî¡ìÅ éôé 12– £z¢%Ä éôé 10  öšþîÊ&ëûy!îû– 20254

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

75. (c) 19 + 20 = 39 × 2 = 78
25 + 47 = 72 × 2 = 144
16 + 13 = 29 × 2 = 58

76. (b) •!îû– !‹!˜öì¢îû e«ëû›)œÄ = x Ýþy„þyÐ “þy£öìœ–
(x ~îû 120%) – (x ~îû 80%) = 60

120 80x x 60
100 100

          
   

6x 4x 60
5 5

  

 (6x – 4x) = 300
 2x = 300  x = 150
¢%“þîûy‚ !‹!˜¢!Ýþîû e«ëû›)œÄ 150 Ýþy„þyÐ

77. (c) •!îû– !‹!˜¢!Ýþîû e«ëû›)œÄ = x Ýþy„þy

“þy£öìœ !îe«ëû›)œÄ 
105x 21x
100 20

   Ýþy„þy

˜“%þ˜ e«ëû›)œÄ 
95x 19x
100 20

   Ýþy„þy

˜“%þ˜ !îe«ëû›)œÄ 
19x 110 209x
20 100 200

    
 

 Ýþy„þy

21x 209x 1
20 200

 

 210x – 209x = 200

 x = 200
¢%“þîûy‚ !˜öì’Åëû e«ëû›)œÄ = 200 Ýþy„þy

78. (a) ö£›hsþ ­ ¢¨#þ™ = (50000 × 36) : (70000 × 28)
     = 180 : 196 = 45 : 49

¢%“þîûy‚ ~öì”îû œ¦þÄy‚Ÿ ¦þyöì†îû x˜%þ™y“þ 45 : 49 £öìîÐ
79. (c) a + b = 15 ~î‚ (a2 + b2) = 113 ö”çëûy xyöìŠéÐ

(a + b)2 = (15)2  (a2 + b2) + 2ab = 225
 113 + 2ab = 225
2ab = 112
 ab = 56

80. (d) 51“þ› £z!˜‚öì¢îû îûy˜ ¢‚…Äy = (60 × 51) – (59.6 ×
50) = (3060 – 2980) = 80

81. (a)
32 48 16 2 16 3
8 12 4 2 4 3
   


   

 
 

4 2 34 2 4 3 2
2 2 2 3 2 2 3


  

 

82. (a) (a + b + c)2 = (13)2

 (a2 + b2 + c2) + 2(ab + bc + ca) = 169
 69 + 2(ab + bc + ca) = 169
 2(ab + bc + ca) = 100
 (ab + bc + ca) = 50

83. (b) ²Ì”_ îûy!Ÿ 
 
 
2 2

3 3

a ab b

a b

 




öë…yöì̃  a = 147 ~î‚ b = 143

   
1 1 1

a b 147 143 4
  

 

84. (a)
 
     

2 2

3 3

a b ab 1 1 1
a b 11 9 2a b

 
  

 

85. (d) •!îû– 7 îŠéîû xyöì† A ~îû îëû¢ = 4x îŠéîû ~î‚ B ~îû
îëû¢ = 5x îŠéîû

7 îŠéîû þ™öìîû “þyöì”îû îëûöì¢îû x˜%þ™y“þ 
4x 14
5x 14





4x 14 5
5x 14 6


 


 24x + 84 = 25x + 70  x = 14
B ~îû î“Åþ›y˜ îëû¢ = (5x + 7) = (5 × 14 + 7) =
77 îŠéîû

86. (a) ›öì̃  „þ!îû 10 îŠéîû þ™öìîû !þ™“þyîû îëû¢ = 5x îŠéîû ~î‚
þ™%öìeîû îëû¢ = 3x îŠéîû

10 îŠéîû xyöì† “þyöì”îû îëûöì¢îû x˜%þ™y“þ 
5x 20
3x 20





5x 20 3
3x 20 1


 

   5x – 20 = 9x – 60

 4x = 40  x = 10
!þ™“þy ~î‚ þ™%öìeîû î“Åþ›y˜ îëûöì¢îû x˜%þ™y“þ

 
 
5 10 105x 10 40 2 :1

3x 10 3 10 10 20
 

   
  

87. (d) •!îû– ö‰þïîyF‰þy ¦þîûöì“þ ö›yÝþ 2x !›!˜Ýþ ¢›ëû œyöì†Ð “þy£öìœ–
(B x !›!˜öìÝþ „þöìîûV + [(A + B) x !›!˜öìÝþ „þöìîû] = 1

x 1 1 x 1
40 60 40

     
 

x 5x 1
40 120

  

 (3x + 5x) = 120
 8x = 120
 x = 15
 !˜öì’Åëû ¢›ëû = 30 !›!˜Ýþ

88. (b) •!îû– £¤yÝþy þ™öìíîû ”)îûc = x !„þ!›
“þy£öìœ ¢y£zöì„þœ myîûy ëyëû = (61 – x) !„þ!›

x 61 x 9
4 9


  

 9x + 4(61 – x) = 324
 5x = (324 – 244) = 80
 x = 16
¢%“þîûy‚ £¤yÝþy þ™öìíîû ”)îûc = 16 !„þ!›Ð



5Achievers

xÄy!‰þ¦þy¢Å
xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

89. (a) o&“þ †!“þ ~î‚ •#îû †!“þ öÝþÆöì̃ îû xyöìþ™!Çþ„þ †!“þ = (56 –
46) = 10 !„þ!›/‡^ùÝþy

5 2510
18 9

    
 

 !›Ýþyîû/ö¢öì„þuþ

•!îû– ²Ìöì“þÄ„þ öÝþÆöì̃ îû ÷”‡ÅÄ = x !›ÝþyîûÐ “þy£öìœ
2x 18x36 36
25 25
9

  
 
 
 

36 25x 50
18


    !›Ýþyîû

90. (c) !ßþiîû ‹öìœ †!“þ = 
1
2 Sx˜%„)þœ + ²Ì!“þ„)þœV

 15 x 3.5
2

   ~…yöì̃  x = x˜%„)þœ

 10 = x + 3.5
 x = 10 – 3.5 = 6.5 !„þ!›/‡^ùÝþy

91. (d) ‰þe«î,!kþ ¢%” = `
31018000 1 18000

100
       

   

= `
11 11 1118000 18000
10 10 10

       
  

= ` (23958 – 18000) = ` 5958
92. (b) •!îû– ÷”‡ÅÄ = 3x !›Ýþyîû ~î‚ ²Ìßþi = 2x !›Ýþyîû

“þy£öìœ– 3x × 2x = 600
 6x2 = 600
 x2 = 100 = (10)2  x = 10
 ÷”‡ÅÄ = 30 !›Ýþyîû ~î‚ ²Ìßþi = 20 !›Ýþyîû
2(30 + 20) × h = 1500

500h
100


  = 15 !›Ýþyîû

93. (b) •!îû– ²Ìöì“þÄ„þ îyý = a ö¢!›Ð “þy£öìœ

öÇþešþœ 23 a
4

 
   
 

î†Åöì¢!›

23 a 4 3
4

 

 a2 = 16  a = 4
¢%“þîûy‚ ²Ìöì“þÄ„þ îyý = 4 ö¢!›

94. (d) •!îû– ‡˜öì„þîû ²Ì!“þ!Ýþ îyý = a ö¢!›Ð “þy£öìœ
~îû xyëû“þ˜ = a3 ö¢!›3

 a3 = 512 = (8)3  a = 8
¢›@ùÌ“þöìœîû öÇþešþœ = 6a2 = (6 × 8 × 8) ö¢!›2

        = 384 ö¢!›2

95. (b) ODB = OAC = 40° S~„þ£z î,_y‚öìŸ ÷“þ!îû ö„þy’V
OD = OB
 OBD = ODB = 40°
BOD = 180° – (40° + 40°) = 100°

96. (d) !˜öì’Åëû %

(52 66 68 55 70 72) 100 %
(6 80)

     
  

 

383 100 % 80%
480

   
 



97. (c) !˜öì’Åëû %

(42 66 85 92 105 100) 100 %
(75 80 120 125 150 150)
     

  
     

490 100 % 70%
700

    
 

98. (a)

3 1
2 3sin 60 cot 60 1x 2 1

1tan 45 cos60 21
2

 
                 

 

99. (d) tan x = 3 cot x = 
3

tan x   tan2x = 3

 tan x = 3  = tan 60°  x = 60°
100. (b) îûÁº¢ ABCD ö“þ

A B

CD

O

OA = 
1
2 × AC 

1 8
2

   
 

= 4 ö¢!›

AB = 5 ö¢!› ~î‚ AOB = 90°
 OB2 = (AB2 – OA2) = (5)2 – (4)2

= (25 – 16) = 9
 OB = 3 ö¢!›
 BD = (2 × OB) = 6 ö¢!›
 îûÁº¢ ABCD ~îû öÇþešþœ

1 1AC BC 8 6 24
2 2

        
 

î†Åöì¢!›

——————


